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How mathematicians

Kim has 232 Lego cards in her collection.

Tom gives her |4 more. How many does she

have attoge’mer?

How many ways can you represent this’
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In September, Sus had 765 stamgs in har collection. During October, she
callected 60 more. How many stamps has she got altogether?

Haw many waus can you represent this?




Anchor Chart




Add 236 and 345.

Read and Reylect

Use .to help you add.

Stepl Add the ones.
6 ones + 5 ones = 11 ones
Regroup the ones.
11ones =1ten +1one
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Guided Practice

O

(@) 423 and 135 (b) 423 and 138
2 3 & 2 3
+ 1 3 Lt + 1 3 8
o Add.
(@) 234+155= (b) 27+ 345 =
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Independent Application

o Fill in the blanks. a Add,

(a) Add 127 and 263. (@) h o i)
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(b) Add 338 and 246.
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How mathematicians

Kim has 232 Lego cards in her collection.

Tom gives her |4 more. How many does she

have attoge’mer?

How many ways can you represent this’




Your turnl

186 + |5 =

234 + 36 =

29 + /3 =

556 + 66 =



Challenge

Explain the mistake Joey has

made. Emma has 169 sweets in a jar.

HTO She gave 37 to Ben.

Which model represents this problem?
el

a) 132

+03 37 169

b)

Monica and Rachel have some sweets. e

Monica has 77 and Rachel has 121 They

have written the calculation differently
C) 169
Monica Rachel Sf 152
127 ’f

+ 7 &1 2]

Who is correct?




Explain the mistake Joey has
e Joeg has put 63 in the wrong place value columns.

,,Z? The 6 is 6 tens but it is in the hundreds column. The
— 3 is 3 ones but it is in the tens column.

Monica and Rachel have some sweets.

Monica has 77 and Rachel has 121 They
have written the calculation differently
o pes Both are correct because addition can be added
121 F i
Ry either way round, however we u,su,allg put the

greater number Jirst..

Who is correct?

Ermma has 169 sweets in a jar.
She gave 37 toBen.
Which model represents this problem?

b C is correct because 3/ + 132 =169 37 is a part,
o[ 132 is a part and 169 is the whole
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